
ATLAS SCT Module Response Curve  -  Fri Oct 20 01:09:03 2000  -  Unknown   -  Module 0170200003b220s30q2t140r0  -  ABCD2T  -  P olynomial fit

Run 1742   Scans 1 - 18   Charges 0.00 - 8.00 fC   Module 0   Stream 0
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Response Curve chip 0 p0       = 41.46 +- 2.914 

p1       = 53.22 +- 1.829 

p2       = -0.7696 +- 0.2305 
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Response Curve chip 1 p0       = 46.46 +- 2.823 

p1       = 50.61 +- 1.806 

p2       = -0.4555 +- 0.2296 
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Response Curve chip 2 p0       = 43.49 +- 3.077 

p1       =    51 +- 1.813 

p2       = -0.6639 +- 0.2199 
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Response Curve chip 3 p0       = 44.18 +- 2.869 

p1       = 51.22 +- 1.758 

p2       = -0.6428 +- 0.2174 
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Response Curve chip 4 p0       = 44.02 +- 2.811 

p1       = 50.97 +- 1.779 

p2       = -0.4897 +- 0.224 
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Response Curve chip 5 p0       = 45.07 +- 3.011 

p1       = 50.77 +- 1.878 

p2       = -0.5402 +- 0.2367 
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